function [betalmat, beta2mat, bet a3mat, si g2mat] =. ..

gs_nor mal _bl ocked_keepal | ( X, X1, X2, X3,vy, n, k, k1, k2, k3,r1,r2, mu0l1, VO1, bet aldraw, . ..
mu02, V02, bet a2dr aw, mu03, VO3, bet a3dr aw, vO, t au0, si g2dr aw) ;

R = rl+r2,

bet almat =zer os(kl1, R);

bet a2mat =zer os(k2, R) ;

bet a3mat =zer os(k3, R);

sig2mat =zeros(1,R); %ill collect draws of sig2;

t houcount =1000;

% start main | oop
i =1;

for i=1:R

9BBB08B8880

% draw betal's

9BBB08B8880

V1=i nv(inv(V01l) +(1/sig2draw)*X1' *X1);

mul=V1* (i nv(V01l) *rmu0l +(1/sig2draw)*X1l' *(y- X2*bet a2dr aw X3*bet a3dr aw) ) ;
bet aldr aw=nvnr nd(mul, V1)' ;

betalmat (:,i)= betaldraw,

9BBBB0888880
% draw beta2?'s
9BBB8LBB880
V1=i nv(inv(V02) +(1/sig2draw)*X2'*X2);
mul=V1* (i nv(V02)*rmu02 +(1/sig2draw)*X2' *(y- X1*bet aldr aw X3*bet a3dr aw) ) ;
bet a2dr aw=nvnr nd(mul, V1) ' ;

bet a2mat (:,i)= beta2draw,

9BB8B8800888880

% draw beta3's

9BB8B8800888880

V1=i nv(i nv(V03) +(1/sig2draw)*X3" *X3);

mul=V1* (i nv(V03)*rmu03 +(1/sig2draw)*X3' *(y- X1*bet aldr aw X2*bet a2dr aw) ) ;
bet a3dr aw=nvnr nd(mul, V1) ' ;

bet a3mat (:,i)= beta3draw,

bet adr aw=[ bet aldr aw; bet a2dr aw; bet a3dr awj ;




taul=(1/2)*((y-X*betadraw)' *(y- X*bet adr aw) +2*t au0) ;

si g2draw=1/ gam nd(vl, 1/taul);

% Mat | ab defines the ig scale as 1/tau, thus the inversion for the |ast
%term

sig2mat (:, 1) =sig2draw,

i f i == thoucount

i

t houcount =t houcount +1000;
end

end
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